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CORRECTION DU DEVOIR SURVEILLÉ N° 1 

Calcul littéral, équations du premier 
degré, fractions 

Le 20 septembre 2023 

 
 
Exercice 1  

( )7 5 4 7 5 7 4= − − + =  −  35 28x xA = −x . 

( )( ) 23 7 3 3 3 3 7 7 3 3 9 7 21= − + =  +  −  −  = + − − 23 2 21B x x x x x x x x x = + −x x . 

 
Exercice 2  

( ) ( )520 25 4 55 4 55= + =   +  =   + 5 4 5x x xC = +x . 
 

( )( ) ( )( ) ( ) ( ) ( ) ( )  65 7 5 3 5 7 5 3 36 9 6 9 9 6 9 5 7 5D  = − + + =  − + + = − + + + + + + x x x xx xx xx x  

Donc ( )( )6 9 10 4x x= + −D . 
 

( ) ( )( )
22 24 9 2 3= − = − 2 3 2 3x xE = + −x x  

 
Exercice 3  
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Exercice 4  

a) 2 5 11+ =x  
55 11 52 + =− −x  

2 6=x  
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2 2
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=
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3=x  

Vérification : 2 3 5 6 5 11 + = + =  

La solution de l’équation est 3 . 

b) 5 5 1− = +x x  
5 5 1− = +− −xx x x  

4 5 1− =x  
54 55 1− + = +x  

4 6=x  
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3
1,5

2
= =x  

Vérification : 5 1,5 5 7,5 5 2,5 − = − =  

et 1,5 1 2,5+ =  

La solution de l’équation est 1,5. 

 


